L={w€{a,b,c}" | wnao contém a subcadeia abc}




Método indireto: AF = GLD

S — bS|cS|aX e
X — aX |bY |cS|e
Y — aX |bS e




Método indireto: GLD = ER

bS | ¢S | aX | €
aX | b(aX | bS |€)]| cS |e

Y

bS | ¢S | aX | €
aX | baX | bbS | b | cS | €

bS | ¢S | aX | €
(a | ba)*(bbS | b | cS | e€)




bS | ¢S | aX | €
(a ] ba)*bbS | (a | ba) b | (a|ba) eS| (a] ba)

bS | eS| a((a| ba)*bbS | (a | ba)*b | (a | ba)*cS | (a ]| ba)*) | €

X

bS | ¢S | a(a | ba)* bbS | a(a | ba)*cS |
a(a | ba) b | a(a | ba)” | €




Método direto: AF = ER

(b | c ]aac|gab(aab) (b|aacl)

~~

(e | aa® |£La*b(aa*b)*(e | aa*Z)

~—

-~

_lala|ba) (c|bb))

7

~~

el ala | ba) (| D)

-~




